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#include <stdio.h> p.14-15
(BA)

int main(void){
int val; (b)iC*‘lj:
scanf("%d", &val); *Eﬁ@jf?ﬁé':
return O; ENTHH
} HENOLEL
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/*

F1YiEEFHE
Author: kaiya
Date: 18/10/2014
*/

#include <stdio.h>

int main(void){
float x, y; // floatlIFBENELNDTHEOHLEEA
X = 15.0;
y = 32.0;
printf(“%0.1f¥n”, (x+ty)/2);
return O;
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#i1nclude <stdio.h>

{

}

nt main(void)

#include <stdio.h>
int x, vy; Int main(void){int X,y;x=15;y=32;
X = 1%; ’ printf("'%d¥n", (x+y)/2);return 0;}
y = 32;
printf("%d¥n", (x+y)/2);
return O;
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$ cc —o circle circle.c
$ ./circle
5

area = 75 circumference = 30 pj
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} 7

// Ef| taxl.c

if(income >= 10000000){ // WAMN—F AL ELS
tax = income *30/100; // FZFE([L30%7=

}

printf(“itncome %d, tax %d¥n”, 1ncome, tax);
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} y

// ZEfH| tax2.c
if(income >= 10000000){ // WAMN—FHLELS
tax = income *30/100; // #EE[LX30%f=
Yelse{ 7/ FnLSNDIEE,
tax = income *20/100; // FZE(L20%f=.
ks

printf(*'income %d, tax %d¥n'', iIncome, tax);
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- ash-3.1% ./a
LISt 4-1E p_83 [nput the probability of rain

0
ou don’ t have to bring yvour umbrel la.
ave a nice day!
ash-3.1% ./a |

// list3-1x.c Igput the probability of rain

#include <stdio.h> ol have to bring vour umbrella.
ave a nice day!
ash-3.1%

int main(void){
int n;

printf(C'Input the probability of rain¥n');
scanf("%d'", &n);

i1F(n>=50){ 7/ REKFEE 50%LLL7%55

printf("'You have to bring your umbrella. ¥n');
} else { 7/ B5L»iEthiE

printf("'You don"t have to bring your umbrella. ¥n');
+

printf('Have a nice day!¥n');
return O;
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// list3-1x.c FRBAD=-6HRITZIEPLTLVS
#include <stdio.h>
int main(void)

{

int n;

printf(""Input the probability of rain¥n);
scanf("%d", &n);

1 T(n>=50)

{ 77 BEKHER 50%LL LTS
printf("'You have to bring your umbrella. ¥n'");
¥

else

{ /7/ HOLeiEhnid
printf("'You don"t have to bring your umbrella. ¥n');

3
printf("'Have a nice day!¥n');
return O;
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« 1000 A AR GELELFHEDEEIIEINGSTREL.

o you have vour child(ren)? Yes=1 No=0: 1
income 10000000, tax 2500000

ash-3.1% ./a.exe

10000000

o you have vour child(ren)? Yes=1 No=0: 0
income 10000000, tax 3000000

ash-3.1% ./a.exe

000000

income 8000000, tax 1600000

ash-3.1%
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int main(void)

{ 7/ E% tax3.c

Int income, tax;
scanf("'%d", &income);
if(income >= 10000000)

{ 7/ WAR—FHLULELGS

int hasChild=0;
printf("'Do you have your child(ren)? Yes=1 No=0: ");
scanf("'%d", &hasChild);
1T(hasChild==1)

{
tax = income *25/100: // FHOBMNTFTHRER(L
}
else
{
tax = income *30/100: // FiZE(X30%F
}
}
else
1
tax = income *20/100:; // FiZE[X20%7-.
T

printf(*'income %d, tax %d¥n', income, tax);
return O;
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ash-3.1% cc listd-1v.c

ash-3.1% ./a
Input the probability of rain
5

ou have to bring vour umbrella.
ave a nice day!

ash-3.1% ./a
Input the probability of rain
0

id it rain vesterday? Yes=1, No=0: 1
ou have to bring vour umbrella.
ave a nice day!

ash-3.1$ ./a
Input the probabllity of rain
b

id 1t rain vesterday? Yes=1, No=0: [
ou don’ t have to bring vour umbrella.
ave a nice day!

ash-3.1%
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#include <stdio.h>

int main(void){ 7/ list4-1ly.c

int n;

printf("'Input the probability of rain¥n');
scanf("'%d", &n);

i1 T(n>=50){ 7/ [B/KiEE S50%LL LGS
printf(""You have to bring your umbrella. ¥n');

t

else { 7/ B5L»%nd
int 1sRained=0;
printf(’'Did i1t rain yesterday? Yes=1, No=0: ");
scanf("'%d', &isRained);
if(isRained==1){
printf("'You have to bring your umbrella. ¥n');

}

else{
printfF("'You don"t have to bring your umbrella. ¥n");

}

+
+
printf("'"Have a nice day!¥n");
return O;
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$ cc o_sbml sbmi.c { sty e

$ ./sbmi FNENIA—%IRT

175 C BOELTHEEL,

80

height = 175 weight = 80
Lose your weight!

3 4
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